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Yo et a2

RRB ALP & TECHNICIANS 2018

[Roll No:
Participants Name:

Test Center Name: iON Digital Zone iDZ 1 Naini|
Test Date: 17/08/2018

Test Time: 10:00 AM - 11:00 AM
Subject: ALP Technicians

1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

Q1 fgw arv Jut wefgh & WafUd e # IHUiead Ug & IaT eS|

RAMA : MARA :: SITA :
Find the missing term for the related pair of letter clusters.

RAMA: MARA = SITA:
Ans 1 TSAI

X2 TIAS

< 3 SIAT

v+ TISA

2 gfy gl war
Growth hormones function:

Ans <1 Foft ot rerry SRS FFTH

rarely as growth promotors
Y &)
el o Hicamee 3R Fsfl-aef faw st S v &

sometimes as growth promotors and sometimes as growth inhibitors

x gHer e 3E0as FETH
always as growth inhibitors

e R RFE IcEEE F T
always as growth promotors

Q-3 37 orr ¥ oI B Hi A1 § Ford 435 & Sirger 9% ve T 79 S 2 82

The least number to be added to 435 to make it a perfect square is?

Ans X1-3
<28
N
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X4

Q.4 X # AT BHFT T gT, Y T 7, "X & AN H F vHAT ¥ F TR
T Y X & 2l
Pointing at X, Y says, “X is the son of the only son of my mother”. Then Y is X’s

Ans qHT
X =

Father-in-law
x 2 S
Brother
rar

Father

X 4 alal
Grandfather

W 3

QS5 I §Ead A,B.C 3T D W WK & F e slmg 16 81 A 3k B =7
staa o5 ¥ ¢ 3ilt D F sitwa F=T ERT?

Four numbers A, B, C and D are such that their overall average is 16. The average of A
and B is 9.5. The average of C and D is:

Ans X 1.21.5
V2225
<3255
< 423

Q6 Fi @ TR FaF TH WY F FA AT AT T § ?
Which permanent tissue makes a plant hard and stiff?

Ans mmr
p 8

Collenchymas

v :
Sclerenchma

AT

| Parenchyma

TLAFISAT

| Aerenchyma

X3

p

Q.7 gfy x2 4+ kx + k = 0 FS g el &@ df k & A = &7 & Fwer
T FHEM?
Ifx2 + kx + k = 0 has no solution, then the value of k will satisfy:
Ans =
o k=4
k=>4
,0<k<4
O<k<4
k<4
3

k<4
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 k>—4
k> —4

% e weher 3gfed FT AT F FAT FET AT &
A sound of single frequency is called a:

Ans
X1 Al

Note

% 6561 FT TS FAT A

What is the square root of 6561?
Ans X 1. 77
< 289
X 379
v 481

Q10 15 wzadr 2018 #r TaR &1 18 384w, 2019 & Hr & = gem?
15% February 2018 is a Thursday. On what day will 18t April 2019 fall?

Ans  erfETT

eI

< 3
Friday
EA2ELES

]
4

| Wednesday

@t 576 FT FNHS FATE 2

What is the square root of 5767
Ans ( 1. 24
x 236
X 326
< 434
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40 | 37| 35 27
26| 76 86
83 | 71 4 21
D 1 7 3 11

0O|lm| >
»

Bl || =

The Party which won the highest number of seats is

Parties and seats won
Serial | Party| South | East | West | North
No.
1 A 40 37 35 27
2 B 6 26 76 86
3 C 83 71 4 21
4 D 1 7 3 11
Ans x 1. A
X2D
v :B
X4C

P RrafaiEa & ¥ FiF @ o= 3T 8
Which of the following salts is acidic in nature?
Ans v . AT FEte
Sodium Carbonate
x 2 aIfzas v
Sodium Acetate
| s BIEHE
Ammonium Phosphate

4.ﬂ??ﬁﬁ'ﬂ?=rm

Magnesium Sulphate

x

~<

Q14w arg # 3fra e T 170 F RFa Hea T 130 8, ge A @w A Hifswl

The rate of discount on an article whose marked price is ¥ 170 and selling price is T 130
is:

Ans X 1.22.45%
X 2. 24.26%
V'3 23.53%
< 4. 23.60%

Q.15
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3 717 et B w@Er AT st Ao fifaw & Fia @ TS Fuet @ v
e T H FFEOT F §

FeA:

FT g8 i & FO vl g Fey £

ot
1. T o 5% gl
2. 3 fegrdr Aoy = &
Consider the given statements to be true and decide which of the conclusions logically

follow(s) from the statements.

Statements:
Some carpenters are plumbers. Some plumbers are daily wage labourers.

Conclusions:
1. Some plumbers are carpenters.
2. Some daily wage labourers are plumbers.

Ane o Faer TPy 2 3TEIT HIA B
1.

Only conclusion 2 follows.

1 3R 2 At 3eEr F
Both 1 and 2 follow.

et forsehd 1 HgaRoT e B

Only conclusion 1 follows.

4_3?&134‘1?3@234@%%

v

x

~
Neither 1 nor 2 follows.

U1 Qrafafaa ¥ fQus 1 ggae i

Identify the odd one out from the following:

darg
K 7

Air

Ans

Q17 ofy v AR & Areas & Fafe g arelr fega i 3K v soagia T e
. A1 ¢ Behs F varfaa e arer selaeiat s BT s fas AreaH & i frar e
[T E?

If ] is the current through a wire and e is the charge of an electron, then the number of
electrons crossing in f seconds will be given by:

Ans
< 1 eIt
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X 2 Jeit
v 3 Jie
< 4 Ite

Q.18 337 wr wag & WO w{ o MfRT 3w R 1 R e g

Select the correct set that represents the following Venn diagram.

Ans BTFeT, HeIST, IMT
X 2

Doctors, human beings, cows

gy, T, ST
K22
Males, fathers. doctors

X3

| Cat, toys, girl

v
TGN, T HRInr, e afea

Office boys, government employees, educated person

O 37 3R F IUA L S TAE T TERT T L

PlE|T|O

1 2 3 4
Select the letter which does NOT belong to the group.

PlE|T|O

1 2 3 4
Ans xl_ 2

o1

X33
<44

02080 F 15 % &F 45% & UL ¢l
15% of 60 is 45% of

Ans
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<140
< 2180
'3 20
< 430

Q-21 weh gmRET 3% 71 * 10* Hz ¥ 3mgfeq A 3108 Fex wfy ¥ Hrafa & wrr ai
T SN HaT & | T &7 AT G

A broadcasting station transmits waves with a frequency of 71 x 10* Hz and a speed of
3x10® m/s. The wavelength of the wave is:

Ans 418.8 HeT
' 418.8m
208.4 #HreT
208.4m
422.5 #eT
4225m
324.6 HIeT
324.6 m

r 8

% gotete 3 ToT el 3 T 3T Hid AT
The essential organs in a flower for reproduction are:

Ans TETC AR T
X1 2
the sepal and stamen

| the stamen and pistil

| eI R g
| the sepal and petal

| T A Eee
*the petal and pistil

v

<

x

Q.23 #fy 7w 3y Tr & & # T87 F 1:2 F gud A Renfaa fear v
o e Fr fhaer T9r fEeEr?

If T 87 was divided between James and Radha in the ratio 1 : 2, how much money did
Radha get?

Ans of 1% 29
X 2% 57
< 3%59
< 4 T 58

Q-24 7% 2017 & 5w #Ew FaeT TF ‘& e Us e wEg & Wy
T & T & e Ve w6 % o dr smg Sar ar?
‘Which Indian tabla player won the Grammy Award for his collaborative music with ‘The

Silk Road Ensemble’ group in 20177
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| W g|
Sandeep Das

x o T T

Zakir Hussein
< 3

Rimpa Shiva

Tarer gHEr
F

Yogesh Samsi

v

Q.25 35 e & éawer 7T w{ Fws ¥ (2, 4), (- 3, - 1) 3 (5, 3) Rwgw
g

The area of the triangle whose vertices are given by (2, 4), (— 3, — 1) and (5, 3) is:

Ans -
xL?a:‘rsaaém

7 sq. units

21431?33;@#

14 =q. vnits

Szoav‘rsa:uémf

20 sq. units

41031?33:%1#

10 sq. units

~x

x

v

Q.26 i BT 1T FHUAT S HET AT AT Fg " Y & FudAr @ Fia @ fAehst
T FHEINT FT ¥ UTlT 8 T &1

Fu:
FE 3t A T AT F| P ot Faw d9 Ag §1 Fo 3w A B

forse
1. HE ofr | 37\ & B
2. #i$ o e waw AL B
3. o da A ¢
4. @afr A A F

Consider the given statements to be true and decide which of the conclusions logically
follow(s) from the statements.

Statement:
No mangpo is an orange. No orange is an apple. Some mangoes are apples.

Conclusions:
1. No apple is a mango.
2. No apple is an orange.

3. Some oranges are mangoes.
4. All apples are mangoes.

Ans Xl-
Fdol TSy 1 IT 3 T IS aF &T &

Only conclusion 1 or 3 follow
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xzﬂﬁﬂﬁﬁ?é1aﬂq|:~m%’r{5|%

| Only conclusion 1 follows

«3ﬂa_ci?rﬁ'lﬁl—7¢23—7rq|ma W@ E
Only conclusion 2 follows

X 4

oo fasey 2 3t 3 &1t &1 9o & wr g

Only conclusion 2 and 3 follow

Q.27 faraay AT H T 4400 AT ¥ 8% NG a7 W 4576 @1 ALY, s TF Thaig
T A gofsa e i

In what time will ¥ 4400 become T 4576 at 8% per annum interest compounded half —
yearly?

Ans «1. 63:“%'

6 months

QB X, T FrsReamerdi s WA i s T F
e 4 3 R sy § 3 9oie T Soat & TIT 1 30 e Ser g ar X
ganr fT 1w wrera Beokt S wEa gl

X attempts 94 questions and gets 141 marks. If for every correct answer 4 marks is given,
and for every wrong answer 1 mark is deducted, then the number of questions wrongly

answered by X is
ans of 147
X 2 40
X357
< 4 45

Q.29
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RrarmaI W R s N v T Fwa w 3c e & v R &
Fle AT T 9T B

g =@fed P, Q, R, S 71 T el ufea & @2 €1 oea & Mg & i #7

ERCH

1.T & =i 3T Q #l
2PN TFMmIASH

Consider the given question and decide which of the following statements is sufficient t:
answer the question.

Five people, P, Q, R, S and T, are standing in a line; who is in the middle?

Statements:

1. Qistotheleft of T.
2. Sisin between P and T.

Ans x 1.
FU 1 3R FUF 2 A1 & 3W F WA A 3o &4 7 T8A gl
Both 1 and 2 are sufficient to answer the given question.
~ 2
U 1 3hell & IW & U H 3ok &f H WA § W] A 2 3ol &
IU & WA A ook &l & W T El
1 alone is sufficient while 2 alone is not sufficient to answer the given question.
x 3
U 2 3Fhell & IW & U H 3ok & H WA § W] HaA 1 3ol &
IU & WA A ook &l & W T El
2 alone is sufficient while 1 alone is not sufficient to answer the given question.
v
a1 at e 1 3T AT & FUT 2 3 F WA FT 3ol & H TEH &
Neither 1 nor 2 is sufficient to answer the given question.
Q.30 i ap0 0
sin 30 + 1+ cos 30 =9
1+ cosz0® sinzo”
sin 30° 1+ cos 30° _n
1+ cos30® sinzo” )
Ans x 1.3
X 21
<32
V4
Q.31 & s+
T sk Uol A T forH & 7 FIES el 82
The energy stored in a dry cell is in the form of:
Ans

| Terfas st
Potential energy

xz_mﬁ:ﬁwﬁ

Nuclear energy

~x
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| et
Kinetic energy

v TS Fer

Chemical energy

<

Q32 37 fawed &1 To= F{ o eafafad B # Bl & Fo FEr g g

AN

Select the option that represents the number of triangles in the following figure.

A\

Ans X1 G
X2 4
<33
V5

O3 eh gre =72
One Watt = ?

Ae o 1 30T ufT WHs
1 erg/sec

|1 urEhel Ui Wehs
1 Pascal/sec

1 HieT ufa dehs
1m/s
‘,4.1 S afa ks

1 Joule/sec

x

x

Q-34 Tt it 3573 AT FeIAT & YR T Feffepe 2T 7 47 Ty <7 &
The credit for classifying the elements on the basis of their atomic masses goes to:

Ans v s Az
Dmitri Mendeleev
X2 ST Soead
John Dalton
John Alexander Reina Newlands
) STTETe oxpe 9T STalel
| Johann Wolfgang

x

x

Dobereiner
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Q-35 waer: 20 et 3 50 oiamA awe arer of TEgEt & @ HYUT B g
frae 2w, ofg 5% @ g 2 Aew En

‘What will be the force of attraction between two bodies weighing 20 kg and 50 kg,
respectively, with a distance of 2 metre between them?

Ans - X 1.16.675 X 10711 N
¥ 216675 x 1071° N
#3667 x 10711 N
< 41667 x5 1°N

Q.36 Ru 71w e FF AWgEE 9¢ HN FAW & gHET 3e & & fov e
FuAl #F ¥ HiT gaa §E

sﬁuﬁ%rﬁma’u‘rﬁﬂagcrs:?

e
1. ISATT H Tt 3 forar & 25 9 e 2
2.aﬁmraﬁra3;rsn1974ﬁﬂa§éaﬁmﬁmﬁ35mm€ra

Consider the given question and decide which of the following statements is sufficient to
answer the question.

What is the birth year of Mr. Rajesh?
Statements:

1. At present Mr. Rajesh is 25 years younger to his father
2. Mr. Rajesh’s sister who was born on 1974 is 35 years younger to his father

Ans Xl-
Fad FUT 2 TATT § FGF Fad HAT 1 AT

Statement 2 alone is sufficient while 1 alone is insufficient

X 2
Fad FAT 1 T g TS Fad FAS 2 JAUAT g

Statement 1 alone is sufficient while statement 2 alone is insufficient

W 3
FuT 1 3T Fua 2 A gaeg &

Both statements 1 and 2 are sufficient
o, BUA 1 AT FAA 2 TATT §

Either statement 1 or 2 1s sufficient

Q37 &y T A Ao W ILUT WEAT T ThA HL

4, 9, 20, 44, ?

Select the number missing from the given number series.

4,9,20, 44,7
Ans x 1. 90
v 295
~< 380
#4100
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Q.38 p: 37 WaW TIeT UATcHS Julish &, & P* & T Il eelcAs quiish N & ar
=T FEATHT & T & & F TOrGm o Hhar 1 ar P &

‘P’ is the smallest positive integer such that every positive integer N greater than ‘P* can
be written as a sum of two composite numbers. Then ‘P~ is:

Ans of 111
K26
<310
K43

Q.39 rAfef@T & ¥ i ageTg 3Fat & &K F = & § T v =@ ar?
Who among the following was NOT one of the ‘Nine Gems’ of Emperor Akbar’s court?

Ans v = e @
Osman Ali Khan
| T TIET A
Raja Todar Mal
S, I G A
Abu'l-Fazl ibn Mubarak
| TR s R

Fakir Aziao-Din

<

Q40 TFIETTF R Fr 2 T H W TFar & T =98 ¥ o= @ F Forefr Framey
ﬁzgmmmm%ﬁ##wﬁaﬂm e T & ETe Y @A

A pipe can fill a sump with water in 2 hours. Because of a leak, it took 2 ghoum to fill the
sump. The leak can drain all the water of the sump in:

Ans hd
X1 6 T

6 hours
119
11 hours
8 T

8 hours
15 T
15 hours

X 2

W 3

X a4

QA e sive R ST AT 2017 i F ARG F ST o
Which Indian won the 2017 French Open Super series tournament?

Ane 1 SR ST
Dipankar Bhattacharya
| ST dtaw
George Thomas
. HAAFAT T

Anilkumar Raju
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v ST R
Srikanth Kidambi

Q.42 ﬁ:mﬁ’maﬁa:ﬁmﬁﬁm?ﬁaﬁﬂaﬁﬂ?mﬁﬁ?ﬁammﬁaﬁr
wigr Fgen 3-

The tendency of undisturbed objects to stay at rest or to keep moving with the same
velocity is called:

Ans X . a?.l.

velocity

momentum

v =

inertia

Q.43 fo=efa & & &l @ uig 32 T 7 ueh & Fr afafRar =g wEr € 2
Which of the following metals does NOT react with cold or hot water?

ne Xl_#r%uw

Sodium

Qe
Potassium
o hiceraH

Calcium

TeOAIT=TH
2 2

Aluminium

X 2

Q44 3q fasheq 1 T Y, N & 715 = F@er # @l T W A0

9811 504} 39 L0 L A

Select the option that will correctly fit in the blank space in the given figure series.

E—O—OO—D—O

o~

1.3(t. |t

Ans

[
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x|

Q.45 F=r v 7ir = Rt #F ¥, A= v v Ry & = F w9 oy & mma w0

Problem Figure

e

Answer Figures
A B C D

Problem Figure (F2sT-3mfa)
Answer Figure (3eai-3Tia)
From the given four figures choose the correct water image of the below figure.

Problem Figure

X

Answer Figures

R
Ans «1D

K2C

<:B

<A

Q46 e 2020 FT ForzT FIF T I¥ F AT g
The calendar for the year 2020 will be the same for the vear:
Ans  of 12044
X 2.2076
< 3.2040
X 4.2096

Q47 167w v 4 Fr s faet F IR 12 9% F FF TACT I TS §1 5
FH & I AT AAF T HeT R 24 foedt F wfofee s O R w1
TAT FGT % fow fhaer et $1 smEeaswar gem

A piece of work can be done by 16 men in 8§ days working 12 hours a day. How many
men are needed to complete another work, which is three times the first one, in 24 days

working 8 hours a day?

Ans 22989
1. =

22 men
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23989
2. ]

23 men

25 9%y
3. =

25 men
24 ‘ClaF'Sl'

o 4
24 men

QM pH 77 F 7 & 14 F F g8 ey v whafafe e &

The pH value increase from 7 to 14 represents a:
x,, OH 3= TEaT # At
decrease in OH- ion concentration
N ] .
, H 3= amsar 7 i
increase in H™ ion concentration
X 3 H" 3ae |gar # &Ar
decrease in H™ ion concentration
| OH" 3mare wigem 7 Ffe

increase in OH- ion concentration

Ans

x

-

Q.49 ot Hfere & @i = ey BT 717 Fue #1 9o 38T F3a ¢
FUA:
HehdTl
fors:
1. FHIE T THUT F AT T FGT B TAE A ST TR
2. YeERT & HATILET & T HEANRT H H Hollg & e =Tl

Decide which of the conclusions logically follow{s) from the information given in the
statement.

Statement:
A company cannot make profit unless both, management and employees work together.

Conclusions:
1. The workers should be advised to cooperate with the management.
2. The management must be advised to cooperate with the employees.

Ans xl;rr-fﬂaﬂtsr?rzaqwm%

Neither 1 nor 2 follows

Faer frsey 2 HFETOT FAT
’ Only conclusion 2 follows

Faer sy 1 3TEIT FIAT §
| Only conclusion 1 follows
1 3 2 T T B ¢

Both 1 and 2 follow

X3

-
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N0 B 7 FL

36 —[18 — {14 — (15-4 + 2x 2)}]

Solve the following:

36 — [18 — {14 — (15- 4 + 202)}]
ans X120

X222

Vs 21

X423

Q9o %
AGHUw

e o Rt F ¥ yedw w1 ik o ar Iwer w5 ofy O weEn &
Fenfee frar o & ¥ &t w9 B & & siF g

1 2 3 a 5
[ 7 8 9
If three groups could be formed using the given figures only once, these groups would be

Ane %, (1,94, (3 4,6 AR (2, 5, 8)
(1,9,4), (3.4, 6)and (2, 5, 8)

%, (1,968,357 AR (2, 4, 8)
(1,9, 6),(3.5,7)and (2, 4, 8)

%, (298,347 #T (1, 5, 8)
(2,9,6),(3.4, T)and (1, 5, 8)

. (1,986 47 3R (2, 5, 8)
(1,9,6), (3,4, 7)and (2, 5, 8)

Q.52
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i W 3co-3pia (Answer Figure) & 71§ wea-3Tp{ (Problem Figure) =T

Answer Figures

A B C D
Which of the Answer Figures is the correct mirror image of the given Problem Figure?

Answer Figures

A
Ans X1 A

X2C

v 3D

X< 4B

O v o R F W Rwew F @y qu #H

Ans
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QM Fraeg Ak e o e s Fm 1s3r v Asw @ ¥ = C

oY 7Y & F 45 U2 F wWiet S AT § 99 HS ey ST 74 = @7 gl
YTAT H F Th TR o, w5 A Ay C = A Fo uel % e
WET A FF g T T T AT 1ew B & Avel @ w4 5w veH Edr s
# o 55 U @R 9T B & et @ e e

Two pipes A and B can fill an empty cistern in 18 and 27 hours, respectively. Pipe C can
drain the entire cistern in 45 hours when no other pipe is in operation. Initially, when the
cistern was empty Pipe A and Pipe C were turned on. After a few hours Pipe A was turned

off and Pipe B was turned on instantly. In all, it took 55 hours to fill the cistern. For how
many hours was Pipe B turned on?

Ans xl' 50
V2 45
330
X 427
Q.55 T # & Fua # & 75 FTHFE ¥ WoF FA-H HFAH FHEIT 7T F

Ans

STELOT FLT 2l

FT:
T Al FEA A T @ E HiF SHAN THAT JeT WeH-GHEAT A o9 A 7T
& I 15F ool @ ol

AT

1.9 #f Fee ¥ 5 9 30 3T 1 e o

2. 3g o T ¥ Seav 3T Ay A E

Consider the argument and decide which of the given assumptions is/are implicit.

Argument:
A mother is crying in the hospital as her only son died in a road accident while driving his

bike.
Assumptions:

1. The mother thinks it’s her son’s fault.
2. The mother thinks that God is not with her.

v
o P FAT 1 HFJAWT FHIAT g AN 7 & 2

Neither 1 nor 2 is implicit

X 2
A 1 3R 2 A & R e

Both 1 and 2 are implicit
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T ITATA 2 3TTHIOT FIAT g
3.

Only assumption 2 is implicit
o, T A 1 SRR g

Only assumption 1 is implicit

Q.56 7t & 5 forwy ol F & wedw I TEAIC UH GA Yoo # IEOT S
2, 30 Rwreq & =3 = S B B & fav 1w wea [=Es (?) & s€oT Wehal
gl

101 43 48 34
38 i

35 15 56 184
A B

Assuming that the numbers in each of the following figures follow a similar pattern, select
the option that can replace the question mark (?) in figure B.

101 43 48 34
38 7

35 15 56 184
A B

Ans - X 1136
<2127
~< 3128
v 4142

Q.57 g ¥ it W Yerd FolRrie Tga # 3ufeyd a1 i wpfd & R W
faR T & |y THE § 2

‘Which of the following glows with special colour depending on the nature of gas in the
fluorescent tube?

Ans
e CollaHAT

Plasma

S
Hydrogen
| - YA

X2

x

Bose-Einstein condensate

x4@ﬁl€m

Helium

%8 ymyferes smaa wRol F argst # FE W @ T §?
Metals are placed on which side of the Modern Periodic Table?

Ans xl.wﬁﬁ?

Top row

o, 3

Right side
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ICECICICT
Bottom row
ST AT
Left side

X 3

v

Q59 gradr 2018 @, AT FUH F TRAT T F W AT 2
As of February 2018, who is the India-born CEO of the Nokia company?
o, I g s
Ajaypal Singh Banga
X 2 ‘
Satya Nadella
= :
Sundar Pichai
=T g
4,

Rajeev Suri

Ans

X 3

v

Q.60 it ey & e HFATSS & S 3l 3 Fry-mrY R & wner s Wit wa E2

Metal oxides which react with acids as well as bases are called:
<L Taras
Acidic oxides
X 2 & :
Neutral oxides
. TFhI e ATFAEE
Amphoteric oxides
X 4 T HFaEs

Basic oxides

Ans

v

Wl or Oy H. 397 & 71 U A7 F qREfaT gar & 2

In a plant, which of the following is converted into seed?

KL

stigma
X2 3SR
ovary
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Q€2 fagy oftwy 3 Regy FoIE Brud Za TaE AT B2
What enables an electric current to flow in a circuit?
o TG # A
The motion of neutrons
o , St & ot
The motion of positrons
| Seie s ity
The motion of protons
. T &

The motion of electrons

Ans

<

Q.63 2017 # 3ANFI-ARE =i ofivg (LUw.HSAa) g3 BFa A
FETES W gEedteT #iw Ay R ¥ et R

‘Which Indian chief minister was awarded the ‘Transformative Chief Minister Award’ by
UsS-India Business Council (USIBC) in 20177

Ans x . a; Ela'ﬂ!ﬂ'{ "Gl
K. Chandrashekhar Rao
EEICEEGEIECS
Naveen Patnaik

v S 2

Chandrababu Naidu
x ., o

Siddaramaiah

X 2

Q642 greg wer & forw 2 F foraen Srser v smaTear &7

How much does one need to addtogto obtaing?

p 8

X 2

W 3
1.5

y -

Ans

I| L+ O I BT O
HH

Q.65 7fy ABCD we Thrr TS &, A1 cos?A — c0s?B — cos?C + cos? D) FT I T Ee?

If ABCD is a Cyclic Quadrilateral ,then the value of cos?A — cos®B — cos®C + cos?D is:

Ans X1 g
v
<30
X422

Q.66
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"D E M N" & et 3R & s9aTiyd &3k T A =g e 97 SHHT
MR 38T Fr g9 m:

If all the letters “D E M N™ are arranged to form a meaningful word then the last letter of
the word will be:

Ans Kl-E
X2m
K 3N
v 4D

Q.67 @ 2018 ¥ TFa Tow AN ¥ wfaffed T ToR e (TE.dr )
3TETET HheT A=A 2

Which Indian-American is the chairman of the prestigious Federal Communications
Commission (FCC) of the United States as of March 20187

me sl T

3.
Neil Chatterjee
| FeT g

Ajit Pai

v

Q.68 2017 & yeif¥g AR 37T 39=arg diar Sa 3HE AT dws
T 7

Who is the author of the Indian English Novel ‘Sita: Warrior of Mithila' published in
20172

s, U
Robin Sharma
o, 3 fd
Amish Tripathi
< 3. Tget HgH
Rahul Mehta
x4 Add HIT
Chetan Bhagat

Q69 3R WHET & WA A F AT HIPUT 9T F TS FY

BEAK : EIFQ :: SAIL :
Select the missing term from the related pair of letter clusters.
BEAK :EIFQ :: SAIL.:
Ans - X 1 RENV
X 2 VREN
v 2 VENR
X 4 VERN
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Q70 i AT AR T WUET H FIY T 3cAeH AT &7
Which Indian state is the largest producer of Soyabean?

Ans - m Fla?T
Himachal Pradesh
3T 9&2T

Andhra Pradesh
U 9T
Arunanchal Pradesh
| g

| Madhya Pradesh

X 2

X 3.

-

Q.71 fafier wfeat gamr i v wet v wEr e afeesr & & .5 &

FAE. | Wt | gfEor | 9 | ofew | seR
1 A 40 |37| 35 27
2 B 6 |26| 76 36
3 C 83 |71 4 21
4 D 1 (7] 3 11

AT F e F 3R R FeAtai@a =T & 91 S

oét B & &7 ¥ T e @ Shdh
Parties and the seats won by them are listed in the following table.

S.No. |Party | South | East | West | North

1 A 40 37 33 27
2 B 6 26 76 86
3 C 83 71 4 21
4 D 7 3 11

Based on the given data, complete the following sentence:

Party B won the largest number of seats from the

A
ns ( 5 m
North
X 2 ;
South
CICEr: ]

West

x: T
East

X 3.

Q.72 5442673314884743581 Wit &, I¢ W T WAa 9g & 9O¢ T DA TET
HieT E §
In the series 5442673314884743581, the number that is sixth from the left of the seventh

term from the right is:
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Ans X1 7 h
V23
<3
<44

Q.73 & a1 ‘;HH’-HIT‘% (Problem Figure) & 7% ﬁ?—ﬂﬁﬁﬁ (Answer Figures) &
T UF F TiedAted g1 58 Ical-HIFA i o 87

Problem Figure
Answer Figures
A B c D

The given Problem Figure is embedded in one of the given Answer Figures. Which is that
Answer Figure?

Problem Figure
Answer Figures
A B C D
Ans { LB

X 2D
X3 A
XaC

Q.74 FrretaTs (MasterCard) 3 FET HIEwNT 3T 3T 3re787 (2018 &) e &2
As of 2018, who is the CEO and president of MasterCard?

Ans Tt sgeranferar
<L 2

Waris Ahluwalia
| T g &=
Ajaypal Singh Banga
| e o
Prabhjot Singh
ey fiig
Darsh Singh

v

x

X 4

Q.75 gwst % TRET FT 2017 % gl & Tead H AN o 58 EF S 041 o

Which team did India defeat in the final of the 2017 Men's Asia Cup Hockey to claim the
title?

Ans
x 1 EiG]
China
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X 2

3

5 4

STomeer
Bangladesh

HelfRrar
Malaysia
aifehEaTe
Pakistan
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